Smooth Cylinder

G1Y

Series

020, 025, 032, 340, 850, 363, 280, 3100

B cGi1Y[B]
Mcgew

How to Order

With auto switch
(Built-in magnet)
Mounting gg ig 22
B Basic 32 | 32mm
Z* |Basic (without trunnion mounting female thread) 20 20 mm
L Axial foot 50 | 50 mm
F Rod flange 63 | 63mm
G Head flange 80 80 mm
uU* Rod trunnion 100 | 100 mm
T Head trunnion
D Clevis Port thread type
+ Not available for @80 or 100. Nil Rc 220 to 100
= Mounting bracket is shipped together with
the product, but not assembled. ™ NPT 020100100
= The cylinder for F, G, L, D mounting types is TE M5 x 0.8 020, 925
Z: Basic (without trunnion mounting female G 232 to 6100
thread).
Cylinder stroke (mm)

+ Refer to “Ordering Example of Cylinder
Assembly” on page 173.

Refer to “Standard Strokes” on
page 173.

25| |-[100]
25| ]-[100

Z_
Z_

.m. Male rod end
“ Female rod end
Pivot bracket
None

| N | Fiotbetstped et

+ Onlyfor D, U, T mounting types
<Pt ke tgpe ogeer ih e rocuc bt ot sl

Rod end bracket

Nil None
Vv Single knuckle joint
w Double knuckle joint

# No bracket is provided for the female
rod end type.

= Rod end bracket is shipped together
with the product, but not assembled.

= A knuckle joint pin is not provided
with the single knuckle joint.

Made to Orderl

Refer to page 173

for details.
Number of auto l
Nil 2 pcs.
S 1 pc.
n “n” pcs.

Auto switch

.m. Without auto switch

* For applicable auto switches,
refer to the table below.

Built-in Magnet Cylinder Model
If a built-in magnet cylinder without an
auto switch is required, there is no need
to enter the symbol for the auto switch.
(Example) CDG1YB32-150Z

Applicable Auto Switches/Refer to pages 941 to 1067 for further information on auto switches.
k= Load voltage Lty SVIHED EEE Lead wire length (m
Tyoe Special Electrical| 5 Wiring voltag Applicable bore size wir gth (m) Pre-wired |  Applicable
P function entry | 8| (Output) DC AC 220 to 963 80,2100 | 0.5 | 1 | 3 | 5 |None|connector load
= Perpendicular In-line In-line (Nil) |(M)[ (L) [(Z) [ (N)
) MINV MON = ® @@ O|—| O
Sruire (NPN) . = = Gs9 e [—|e[o]—[ 0 | ic
M9PV MOP = ® @@ O|—| O |circuit
_ Grommet 3-wire (PNP) — — G5P e — 0O 6}
5 M9BV M9B = ® @@/ O|—| O
= 2-wire 12V = = K59 o |— Oo|l—| O —
5 Connector| — H7C — o — o006 —
] " MINWV MONW = ®|®/®/O|—| O
3 W il R SN = = G59W ®[O[—[ O | IC |Relay,
@ | Diagnostic indication | svire PNP) M9PWV [ M9PW ®/® O O |cireuit| PLC
g (2-color indicator) — = —|@®|O0|—| O
. M9BWV M9BW ® @ O|—| O
T X —
3 Grommet 2-wire 2v — = —|@®|O0|—| O
2] 3-wire (NPN) 5V 12V MONAV*! | MINA*! Ol@|O|—]| O IC
Water resistant 3-wire (PNP) M9OPAV*' | M9PA*! O|l@|O|—| O [circuit
(2-color indicator) o M9BAV*' | M9BA*! — O|l@|O o _
2-wire 2y = = G5BA™ | @ [—[@|0|—| O
4-wire (NPN) 5V,12V — H7NF G59F ® —(® O|—| O |lCcircut
= Ve uite (NN equivalent) | — 5V — A96V A - o —| 0 — — [ICcircuit| —
£ 1 100V_| A93V*2 Al = D e — —
H Grommet [No| 100Vorless| A90V A90 — ® | [®@[—[—| — [Coiut
o — [Ves| 100V, 200V — B54 o —e[e[—
;:3 No|  2-wire 2av | 12V 200V orless — B64 o |— 0| —|— — R:Eg'
s Connector eS| — — C73C — o ee[e[ —
3 No 24V orless — csoC — ®|—|®/®|/®| — [Ccicut
| Digusic ndeson <ol indea] | Grommet [Yes| — — — B59W o —|(0|—|— —

+1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee the water resistance.
Please consult with SMC regarding water resistant types with the above model numbers.

#2 1 m type lead wire is only applicable to D-A93.
= Lead wire length symbols: 0.5 m
1

- N (Example)

) MONW

) MONWM
) MONWL
) MONWZ
) H7CN

+ Since there are other applicable auto switches than listed, refer to page 182 for details.
+ For details about auto switches with pre-wired connector, refer to pages 1014 and 1015.
+ The D-A90I0/M90IOO auto switches are shipped together, (but not assembled). (However, only the auto switch mounting brackets are assembled before shipment.)

® 172

+ Solid state auto switches marked with “O” are produced upon receipt of order.



Symbol

Rubber bumper

-

Smooth Cylinder CG1 Y Series

Specifications

Bore size (mm)

20 [ 25 [ 32 | 40 | 50 | 63 | 80 [ 100

Piston speed

5 to 500 mm/s

Stroke length tolerance

Up to 1000*3* mm, Up to 1500*3° mm

Action Double acting, Single rod
Type Non-lube
Fluid Air
Proof pressure 1.05 MPa REA
operating pressure 0.7 MPa REB
. . Without auto switch: —10°C to 70°C .
A fl No fi
mbient and fluid temperature With auto switch: —10°C to 60°C (No freezing) REc

= Cylinder sizes @80 and @100 do not have rod trunnion and head trunnion types.
Foot, flange and clevis types of cylinder sizes from 20 to 863 do not have trunnion mounting

female thread.

Operate the cylinder within the allowable kinetic energy.

de 10 .. .
Wetler | Made to Order Minimum Operating Pressure
Click here for details - Unit: MPa
Symbol Specifications \ Bore size (mm) [ 20 [ 25 [ 32 [ 40 | 50 [ 63 | 80 [ 100 |
-XA[] | Change of rod end shape ‘ Minimum operating pressure ‘ 0.02 0.01
-XC6 | Made of stainless steel
Standard Strokes
—————————
Replacement Parts/Seal Kit Bore size (mm) Standard stroke (mm) Note 1) | Max. stroke (mm)
20 25, 50, 75, 100, 125, 150, 200 Up to 1500
Bore size N 25, 50, 75, 100, 125,
(mm) Kit no. Contents 25, 32, 40, 50, 63, 80, 100 150, 200, 250, 300 Up to 1500
20 CG1Y20Z-PS | Piston seal 1pe. Note 1) Intermediate strokes not listed above are also available.
25 CG1Y25Z-PS | Rod seal 1pc. Note 2) Applicable strokes should be confirmed according to the usage. For details, refer to “Air
32 CG1Y32Z-PS | Tube gasket 1 pe. Cylilnlders rl]\/l::)del Selectli‘on” on fronthmatter pages ofkthe I?e;t Pneumat:cs N?lfz'lfl:]ln
20 CG1Y40Z-PS | Grease pack (10 g) 1 pe. addition, the products that exceed the standard stroke might not be able to fulfill the

When maintenance requires only grease, use the

following part numbers to order.
Grease pack part number: GR-L-005 (5 g)

GR-L-010 (10 g)
GR-L-150 (150 g)

specifications due to the deflection etc.

Ordering Example of Cylinder Assembly

Cylinder model: CDG1YD20-100Z-NW-M9BW

Auto switch

D: Clevis
N: Yes

Mounting
Pivot bracket

Auto switch D-M9BW: 2 pcs.

Rod end bracket W: Double knuckle joint

Pivot bracket

+ Pivot bracket, double knuckle joint and auto
switch are shipped together with the product,

but not assembled.

Cushion Rubber bumper

Basic, Basic (without trunnion mounting female thread), Low
M . Axial foot, Rod flange, Head flange, Speed

ounting ’ A

Rod trunnion, Head trunnion,

Clevis (used for changing the port location by 90°) MQ
A rate 0.5 L/min (ANR) or less RHC
Allowable Male | 608 | 041 | 0.66 | 1.20 | 2.00 | 3.40 | 590 | 9.90
kinetic Rubber | fod end RZQ
energy bumper | Female
W) rod end 0.11 | 0.18 | 0.29 | 0.52 | 0.91 154 | 271 | 454


http://www.smcworld.com/products/en/custom.do

CG1Y series

Mounting Brackets/Part No. Mounting Procedure
= =
- Mounting procedure for trunnion
Mounting Order Bore size (mm) Contents Follow the procedures below when mounting a
bracket | qty | 20 25 32 40 50 63 80 | 100 pivot bracket on the trunnion.
2 foots,
N | | | | | ol ol X "
Foot (2] CGL020 | CG-L025 | CG-02| CG-0MD | CGLOSD | GG | CG-OB0 | CBLIOD g 10 e 220 to 063 %éxé?gr:ogrﬁjc;\t"(\%vrug
ios. Fembuning
Flange | 1 |CGF020|CaF025| CGFo32 | CG-FO40 | CG-Fo50 | CG-Fos3 | Ca-Foso | ca-Fioo |1 flange. Eyfindor body possible
4 mounting bolts = -
Trunnion pin| 1 | C6-T020 | 0G-T025 | C6-T02 | CG-To40 | CGT0s0 | c6-Togs | — | — |2 mionins, 1 | [ !
P 2 trunnion bolts, 2 flat washers ! . Flat washer
i runnion pin
: | | | | | | | | 1 clevis, 4 mounting bolts, | Put he exterior]
Clevis | 1| CG-0020| CG:Di25| CG-D032 | C&-D040 | CG:DU50| CG-D083 | C&-0080| G600 v A TEPHIE, Pw(bumirkeztse on the exterior)
Pivot bracket | 1| CGAM04 | G252 | C032264 | CGUL24 | CO05024 | CE83244 | CGAAL24 | CG-100244 |1 pivot bracket

Note) Order two foots per cylinder.

Accessory

# For details about the single knuckle joint, double knuckle joint, knuckle pin, clevis pin, and rod
end nut, refer to page 178.
+ Stainless steel mounting brackets and accessories are also available. 220 to 263

Refer to page 178-1 for details. Clevis pin
Retainng /(Put grease)

Weights 4

Mounting procedure for clevis
Follow the procedures below when mounting a
pivot bracket on the clevis.

Gyinderbody Retaining

(mm) ]
Bore size (mm) 20 25 32 40 50 63 80 100
Basic 0.11 | 0.18 | 0.28 | 0.44 | 0.83 | 1.17 | 2.23 | 3.43 | Pivot bracket
: Axial foot 0.22 | 0.31 | 0.44 | 0.66 | 1.31 | 1.89 | 3.19 | 5.18 Ll
‘S;Z'ﬁt Flange 0.19 | 0.28 | 0.42 | 0.64 | 117 | 1.67 | 2.94 | 4.78
Trunnion 0.12 | 0.20 | 0.31 | 0.49 | 0.97 | 1.31 — —
Clevis 0.16 | 0.26 | 0.43 | 0.67 | 1.23 | 1.85 | 2.94 | 4.71 280, ﬂ(;IIO.O "
Pivot bracket 0.08 | 0.09 | 0.17 | 0.25 | 0.44 | 0.80 | 0.98 | 1.75 FWL‘"H‘:;‘ (pitl;z:se’; 5!!3@ ?ne;am
Single knuckle joint 0.05 | 0.09 | 0.09 | 0.10 | 0.22 | 0.22 | 0.39 | 0.57 ijﬂ];ﬂ]f - "
Double knuckle joint (with pin) 0.05 | 0.09 | 0.09 | 0.13 | 0.26 | 0.26 | 0.64 | 1.31
Additional weight per 50 mm of stroke| 0.05 | 0.07 | 0.09 | 0.15 | 0.22 | 0.26 | 0.35 | 0.49
Weight reduction for female rod end |-0.01|-0.02|-0.02|-0.05|-0.10|-0.10|-0.18 | -0.27
Calculation (Example) CG1YL20-100Z (Foot, 620, 100 st)
* Basic weight 0.22 (Foot, 820)
* Additional weight 0.05/50 stroke
® Air cylinder stroke 100 stroke
0.22 + 0.05 x 100/50 = 0.32 kg
| A\Precautions |
| e e el el |
1 Be sure to read this before handling the products. 1
1 Refer to back page 50 for Safety Instructions and pages 3 to 12 for Actuator and Auto Switch Precautions. 1
R |
\ Operating Precautions \ \ Disassembly/Replacement
/A Warning /\ Caution
1. Operate within the specified cylinder speed. 1. Do not replace the bushings.
Otherwise, cylinder and seal damage may occur. The bushings are press-fit. To replace them, they must be replaced
2. When the cylinder is used as mounted with a single together with the cover assembly.
side fixed or free (basic, flange types), a bending 2. To replace a seal, apply grease to the new seal before
moment will be applied to the cylinder due to the installing it.
vibration generated at the stroke end, and the cylinder If the cylinder is put into operation without applying grease to the
may be damaged. In such a case, mount a bracket to seal, it could cause the seal to wear significantly, leading to
reducg the vibration of the cylinder or use the cyI_inder premature air leakage.
farto?n':/l?btgtli:gﬁ?;ggtrﬁ(zugnz.to prevent the cylinder 3. C_ylinders with 050 or larger bore sizes cannot be
disassembled.
ACaution W_hen disassembling cylinders with bore sizes of 820 through 940,
grip the double flat part of either the head cover or the rod cover
1. Tighten clevis bracket mounting bolts with the with a vise and loosen the other side with a wrench or a monkey
following proper tightening torque. wrench etc., and then remove the cover. When retightening,
220: 1.5 N-m, 825 to 32: 2.9 N-m, 940: 4.9 N-m, tighten approximately 2 degrees more than the original position.
©50: 11.8 N-m, 963 to 80: 24.5 N-m, 9100: 42.2 N-m (Cylinders with @50 or larger bore sizes are tightened with a large
tightening torque and cannot be di nbled. If di nbly is

required, please contact SMC.)

® 174



Dimensions: 220 to 2100

Basic: CG1YB

Smooth Cylinder CG1 Y Series

X ||}
m|m
@ || =

)
m
En

o
@® =

)=
®
o

Z|[=|[=
N || X
olla|e

Width across s KA~ F_ GA 2 x P GB Section TA/TB TC
M H \ V(Hc. NPT, G) o 2xTC
Q|| N i V /
u FH e | :
) L:Jﬂ*f é§
) I g
!’ff‘f“’w AL | S 4xTC U
Callkm 18 || TE
H S + Stroke F TG . TF
ZZ + Stroke NA
Section TA/TB (mm)
B‘j(ﬁnﬁ')ze *TC ™ TE | TF | TG
T 20 M5 x 0.8 85 4 0.5 5.5
ém_[ % 25 M6 x 0.75 10'3%® 5 1 6.5
W_{ > 32 M8 x 1.0 12'9% 55 | 1 7.5
40 M10x 1.25 14'3% 6 1.25 8.5
50 M12x1.25 16%9% 75 | 2 10
|H | 63 M14 x 1.5 189 | 115 | 3 14.5
ZZ + Stroke * Cylinder sizes @80 and 100 do not have trunnion mounting
female thread on the width across flats NA.
(mm)
B‘?’nfms')ze S""(krﬁrﬁ;”ge A|AL|B | c|D|E|F | H|H].I J K | KA MM NA
20 18 | 155 | 13 | 14 8 | 12 2 35 5 26 | M4x0.7depth7 | 5 6 | M8x125 | 24
25 22 [ 195 17 [165| 10 | 14 | 2 40 6 31 |[M5x0.8depth7.5| 55| 8 | M10x1.25 | 29
32 22 | 195 | 17 |20 12 | 18 2 40 6 38 |M5x0.8depth8| 55| 10 | M10x1.25 | 355
40 Up 1o 1500 30 |27 19 | 26 16 | 25 2 50 8 47 | M6x1depth12 | 6 14 | M14x15 | 44
50 35 | 32 27 | 32 20 | 30 2 58 | 11 58 |M8x1.25depth 16| 7 18 | M18x1.5 | 55
63 35 | 32 27 | 38 20 | 32 2 58 | 11 72 |M10x15depth 16| 7 18 | M18x1.5 | 69
80 40 | 37 32 | 50 25 | 40 3 71 | 13 89 |M10x 1.5 depth 22 | 10 22 | M22x1.5 | 86
100 40 |37 41 | 60 30 | 50 3 71 | 16 | 110 [M12x1.75depth 22| 10 26 | M26x15 |106
(mm)
i Rc, NPT port G port
o [P = | A | T | = [t oo
20 77 | 11 1 | 114 | 12 12 | 18 |12 12 |M5x0.8
25 77 | 11 11 | 119 | 12 12 | 1/8 |125 | 125 |[M5x0.8
32 79 | 11 1| 121 | 12 12 | 1/8 [105 | 105 1/8
40 87 | 12 12 | 139 | 13 13 | 1/8 |13 10 1/8
Up to 1500
50 102 | 13 13 | 162 | 14 14 | 14 |14 14 1/4
63 102 | 13 13 | 162 | 14 14 | 14 |14 14 1/4
80 122 | — — | 196 | 20 20 | 3/8 |17.5 | 175 3/8
100 122 | — — | 196 | 20 20 | 12 |175 | 175 1/2
Female Rod End (mm)
Ef;r: At | H MM 2z
20 8 | 13 M4 x 0.7 92
25 8 | 14 | M5x08 93
32 [ 12 | 14 M6 x 1 95

40 13 15 M8 x 1.25 104
50 18 16 M10x 1.5 120
63 18 16 M10x 1.5 120
80 21 19 M14x1.5 144
100 25 22 M16x 1.5 147
+ When female thread is used, use a washer etc. to
prevent the contact part at the rod end from being
deformed depending on the material of the workpiece.

175




CG1Y series

Mounting Bracket

Axial foot: CG1YL

Weledh Y
e e 1 ! ==
3
4anD4 LX w, F 2xolC f w
- Lz X y (Knock pin position) y X M
z LS + Stroke
ZZ + Stroke
Axial Foot (mm)
Bore size (mm) B LC LD LH Ls LT LX Lz M w X Y r4 zz
20 34 4 6 20 53 3 32 44 3 10 15 7 47 118
25 38.5 4 6 22 53 3 36 49 3.5 10 15 7 52 123.5
32 45 4 7 25 53 3 44 58 3.5 10 16 8 53 125.5
40 54.5 4 7 30 60 3 54 74l 4 10 16.5 8.5 63.5 144
50 70.5 5 10 40 67 4.5 66 86 5 17.5 22 11 75.5 | 169.5
63 82.5 5 12 45 67 4.5 82 106 5 175 22 13 75.5 | 169.5
80 101 6 11 55 74 4.5 100 125 5 20 28.5 14 95 202.5
100 121 6 14 65 74 6 120 150 7 20 30 16 95 206

# Other dimensions are the same as basic type.

= For female rod end, since the wrench flap (K and KA portions) will be inside of the bracket when the piston rod is retracted at the stroke end, extend
the piston rod to tighten the nut using a tool, and mount a workpiece on the rod end.

= Refer to the basic type for the female rod end.

Rod flange: CG1YF

4xoFD F, FT
*Q;} "“"T“{z} S i
X @&g@ il e —
A L]
FX-015 H
B
Head flange: CG1YG
2 4xoFD
_ kB

i e Bt

. @,\@\

@ x v 5 é i

w 5 /
| A
FT| |.F FX:015
ZZ + Stroke B
Flange (mm)
Bore size (mm) | B E F | Fx | FD | FT | n | Headfange

20 40 | 12 2 28 | 55 6 35 120
25 44 | 14 2 32 | 55 7 40 126
32 53 | 18 2 38 | 66 7 40 128
40 61 25 2 46 | 66 8 50 147
50 76 | 30 2 58 9 9 58 171
63 %2 | 3 2 70 | 1 9 58 171
80 104 | 40 3 82 | 11 11 71 207
100 128 | 50 3 | 100 | 14 | 14 | 71 210

Note) End boss is machined on the flange for oE.
= Other dimensions are the same as basic type.
= Refer to the basic type for the female rod end.

176



Smooth Cylinder CG1 Y Series

Mounting Bracket

Rod trunnion: CG1YU

TR
TS Bracket mounting range
Trunnion (mm) REA
R T Bloor® | Toes ™ TS REB
\ or
‘ 9’1 § e 20 8% 39 28 REC
/ \ — 25 10855 43 33
1\ 32 1235 545 40 m
1— 40 14388 65.5 49
z 50 1635 80 60 ‘ Low
63 18505 98 74 Speed
Bore size 1z Rod side | Head side MQ
(mm)
. z r4
Head trunnion: CG1YT R 2 76 5 o1 ‘RHC
TS | Bracket 25 53 51 106
T
ga | Moot 32 67.7 51 108 RzQ
e 2‘ ol 40 78.7 62 125
ViE FEH. <& M | ‘ [/ 50 98.6 71 147
I&— 7> a8 63 119.2 7 147
NS ; *# Constructed of a trunnion pin, flat washer and hexagon
socket head cap bolt.
| Note) Refer to page 178 for pivot bracket.
i = Other dimensions are the same as basic type.
‘ * Refer to the basic type for the female rod end.
Z + Stroke TZ
Clevis: CG1YD
220 to 263
L _RR 8xd
0CD hole H1(;\ Clevis (mm)
e Boresize\ cp | ex | cz | L | RR | V
(mm)
— o 20 8 | — [ 29 [ 14 ]| 11| —
25 10 — 33 16 13 —
32 12 — 40 20 15 —
40 14 — 49 22 18 —
Bowe RN EE N N
ZZ - Stroke — —
. 80 18 28 56 35 18 26
100 22 32 64 43 22 32
(The above shows the case port location is changed by 90°.)
Bore size Applicable pin
(mm) s & £z part no.
280, 2100 L RR 20 43.4 | 126 | 137 CD-G02
| V) | oCDholeHo 25 48 133 | 146 CD-G25
| Axis d9 32 59.4 | 139 | 154 CD-G03
1] 40 714 | 159 | 177 CD-G04
%{ 50 86 | 185 | 205 | CD-GO5
é 63 [1054 | 190 | 212 | CD-GO6
80 64 | 228 | 246 1Y-G08
100 72 | 236 | 258 1Y-G10
Note) * Refer to page 178 for pivot bracket.
2+ Stroke — = Other dimensions are the same as basic type.
ZZ - Stroke * Refer to the basic type for the female rod end.
* A clevis pin and retaining rings are shipped together for the clevis type.




CG1Y series
Dimensions of Accessories

Single Knuckle Joint Double Knuckle Joint
————————————————
1-G02, GO3 1-G04, G05, G08, G10 Y-G02, GO3 Y-Go04, G05, G08, G10
Material: Carbon steel Material: Cast iron Material: Carbon steel Material: Cast iron
MM @NDHio MM ©NDkio L
N
o ! . N ll o
%) E i 9
‘ u& / =" MM oND hole H1o
I LafLu.] M MM oND hole o Axis d9
L N
- Axis d9 — T
‘ om R o e
Part no. [WENE A | Al | Ly [ MM R | Ul | NDwo | NX = iy
i) A1l Uy |2
20 [34[8.5|016] 25 | M8x1.25 [103]115] 8¢ | 8 e A1 | U1
25,32 | 41 [105[020] 30 [ Mi0x1.25 [128] 14 | 10°8°* | 103 LL1 | I
40 [ 4214 ]022]|30 | Mi4x15 [ 12|14 ] 10¢° | 18 A
50,63 |56 | 18 [028] 40 [ Mi8x15 | 16 [20 | 148 | 2238 A
80 | 712103850 M2x15 [ 21|27 | 18" | 28 (mm)
100 [79 [21 [044] 55 | M26x15 [24 [31 [ 22 32 Part ool | e MM [ Re | us ND| Nx [ Nz| L [Icdedin
no. | (mm partno.
f Y-G02| 20 [34]85[016]25 | M8x1.25 [103]115] 8 | 8:2:[16[21IV-Go2
Knuckle Pin Y¥-G03 | 25,32 41 | 105] 520 30 | W10x125 [128] 14 [ 10| 10:32 | 20 | 256 IV-G03
Y-G04| 40 [42]16]022[30 | Mi4x15] 12|14 |10[18:25]36 [416] IV-Go4
) Y-GO5 (50,63 56 | 20 [ 028 [ 40 | Mi8x15 [ 16 | 20 | 14 [ 22:35 [ 44 [506 | IV-G05
M 8|8 Y-G08| 80 [71]23[038[50 | M22x15] 21|27 |18 28:25]56 |64 | V-G08
m ™ - Y-G10[ 100 [79 24 [o044[55 | M26x15 [24 |31 [22[ 3225 [ 64 [72 [ IV-G10
L AN * A knuckle pin and retaining rings are included.
t Nt ()
Material: Carbon steel mm .
Appicabobore Pivot Bracket (Order separately)
Partno. | Dd9 [ L | d|L|m| ¢t | lncludd
) size (mm} retaining ring
__1Y-Go02 20 885 | 21 [ 7.6 [16.2] 1.5 | 0.9 |Type C8for axis 020 to 063
_I¥Y-GO3 | 25,32 | 10%5%%2 [25.6 | 9.6 [ 20.2 | 1.55 [ 1.15 [ Type Ci0foraxis Material: Carbon steel
__1Y-Go4 40 10837 | 41.6 [ 9.6 [ 36.2 [ 1.55 | 1.15 | Type C10 foraxis TU. 5Td
_IY-GO5 | 50,63 | 143%2 |506 |13.4 | 44.2 | 2.05 [ 1.15 Type Claforaxs TR W’
__1Y-Gos 80 183888 | 64 | 17 | 56.2 | 2.55 | 1.35 | Type C18 for axis
Y-G10 100 | 223% | 72 | 21 | 64.2 | 2.55 | 1.35 | Type C22foras &
* Retaining rings are included. e
b oTE*31°
. . 0 | ELE Knock pin hole
Clevis Pin =
— Ll—!
JIE=p §
[SYi=}
Sl 280, 2100
n L AN m Material: Cast iron
t - L Nt oTR oTd N
Material: Carbon steel (mm)
Applicable bore Included
Part no. pEize mm) Dd9 Ljd|L | m|t retaining ring \
_ CD-G02 20 854 (434 7.6 | 38.6 | 1.5 | 0.9 |Type Cforaxis Y m
CD-G25 25 1088% | 48 [ 9.6 | 42.6 [ 1.55 | 1.15 | Type Cl0foraxis e
CD-G03 32 12:8%3 [ 59.4 [ 115 | 54 | 1.55 | 1.15 | Type Ci2foraxis = EyE e .
_CD-G04 40 147888 | 71.4[ 134 65 [ 2.05 | 1.15 | Type Cl4 foraxs o } - b
CD-G05 50 16365 | 86 | 15.2 | 79.6 | 2.05 | 1.15 | Type Ciffor axis TY 4 T
CD-G06 63 188853 | 1054 | 17 | 97.8 | 2.45 | 1.35 | Type C18 for axis ™w Tz
* Retaining rings are included. (mm)
# A clevis pin and a knuckle pin are common for the bore size 80 and 100. Horcabie bore
Part no. Sze(nm) | TB | Td | TE | TF | TH | TN | TR | TT
CG-020-24A 20 36 | 8 [ 10 [55] 25 [(293)] 13 | 3.2
w _CG-025-24A 25 43 [ 10 [ 10 [ 55| 30 [(331)] 15 [ 3.2
CG-032-24A 32 50 | 12 [ 10 [ 6.6 | 35 [(404)] 17 | 4.5
% a CG-040-24A 40 58 | 14 [ 10 | 6.6 | 40 [(492)| 21 | 4.5
. CG-050-24A 50 70 [ 16 [ 20 [ 9 | 50 [(604)[ 24 | 6
CG-063-24A 63 82 | 18 [ 20 [ 11 | 60 [(746)] 26 | 8
8 ©) CG-080-24A 80 73 [ 18 | — [ 11 | 55 [ 285 ] 36 | 11
: CG-100-24A 100 90 [ 22 [ — [13.5] 65 [ 324 [ 50 [ 12
il B1 — - -
Material: Garbon steel (mm) Partno. WM Tu | TV | TW | TX | TY | T2 [PPIgERIEPIn
Applicable bore CG-020-24A 20 [(181)[(358)[ 42 | 16 | 28 [38.3 8ds5.07
Partno. | ™ size (mm) d B C|D CG-025-24A | 25 [(207)[(398)] 42 | 20 | 28 |42.1] 1005352
_NT-02 20 M8x1.25 | 5 | 13 | (15) [125 CG-032-24A 32 [(236)[(494)] 48 | 22 | 28 |53.8| 12deo%y
-03 25, 32 M10x1.25 | 6 | 17 | (19.6) | 165 CG-040-24A 40 [(27.3)[(584)] 56 | 30 | 30 |64.6] 14deo%)
-G04 40 M14x15| 8 | 19 | (21.9) | 18 CG-050-24A 50 [(29.7)[(724)[ 64 | 36 | 36 [79.2] 16dsf%)
-05 50, 63 M18x1.5 | 11 | 27 | (31.2) | 26 CG-063-24A 63 [(34.3)[(904)] 74 | 46 | 46 |97.2] 18deo%)
-08 80 M22x1.5 | 13 | 32 | (37.0) | 31 CG-080-24A 80 | — | — | 72| 85|45 [110] 18de3%
-10 100 M26x1.5 | 16 | 41 | (47.3) | 39 CG-100-24A | 100 [ — [ — [ 93 [100] 60 [ 130 22di3%:

178



(N

Best Pneumatics 2-3 Ver.6



CG1Y series

Mounting Brackets, Rod End Brackets, and Nut Material: Stainless Steel

Part No.

Bcz::nii)ze Axial foot*! Flange*! Single knuckle joint Double knuckle joint*2 Rod end nut
20 — — 1-G02SUS Y-G02SUS NT-02SUS
25 — —

1-GO3SUS Y-GO3SUS NT-03SUS
32 CG-L032SUS CG-F032SUS
40 CG-L040SUS CG-F040SUS 1-G04SUS Y-G04SUS NT-G04SUS
50 CG-L050SUS CG-F050SUS

1-GO5SUS Y-GO5SUS NT-05SUS
63 CG-L063SUS CG-F063SUS
80 CG-L080SUS CG-F080SUS 1-G08SUS Y-G08SUS NT-08SUS
100 CG-L100SUS CG-F100SUS 1-G10SUS Y-G10SUS NT-10SUS

#1 A knuckle pin and retaining rings are shipped together. Refer to the XC27 for details on stainless steel double clevis pins and double knuckle pins. The
accessories need to be ordered separately from the cylinder.

Dimensions

The single knuckle joint, double knuckle joint, mounting nut, and rod end nut are the same as the standard type.

Axial foot

F\ M
LX
LZ 4xoLD ZZ + Stroke
(mm)
Bore size B LD LH LT LX Lz M X Y z zz
32 44 72 | [25] [3] [44] 60 35 | [16] 6 [53] [117.5(125.5)]
40 53.5 72 | [30] [3] [54] 75 [4] [16.5] 65 | [63.5] [135(144)]
50 69 [10] [40] 4 [66] 90 5.5 215 | 115 | [755] | [157.5(169.5)]
63 81 [12] [45] 4 82 [ 110 7 215 | 115 | [755] 159(171)
80 995 | 12 [55] 4 [100] | 130 7 28 17 [95] 190(204)
100 125 [14] [70] [6] [120] 160 8 [30] 15 [95] 193(207)
#1 [ ]: Same as the standard type ( ): Denotes the dimensions for long strokes
«2 Supplied with 4 mounting screws.
Rod flange > -
The head flange has the same dimensions. N
= S
m| % (mm)
b Bore size B FD FT FX z
32 50 [6.6] 6 [38] 34
B, 40 60 [6.6] 6 [46] 44
50 75 [9] [9] [58] [49]
FX 4 FT 63 90 [ [11] [9] [70] | [49]
B 4xoFD 80 100 | [11] 9 [82] 62
100 125 | [14] 10 [100] 61

® 178-1

=1 []: Same as the standard type
*2 Supplied with 4 mounting screws.



CG1Y series

Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at stroke end) and lts Mounting Height

Solid state auto switch
D-M9OI
D-M9CIW
220 to 063
~Hs

(24)
( ): Dimension of the D-M9OJA
Aand B are the dimensions from the end of the head cover/rod cover to the end of the auto switch

Reed auto switch

D-A90]

020 to 063 @
REB
REC

g

A 24.5

LB
(22)

( ): Dimension of the D-A96 |§
A and B are the dimensions from the end of the head cover/rod cover to the end of the auto switch.

=g
o|g=

D-G5, K5, G50W D-C7,C8
D-K59W, D-G59F, D-G5NT 020 to 063 RHC
220 to o1 ggs 1 Auto switch 85 Auto switch
i ; - i , RzQ
[olm ]
A 33 B 'A 26 B
D-H701, H7OW D-C73C, C80C
D-H7NF 220 to 063
220 to 563 5 Auto switch Auto switch
~Hs -
D-H7C D-B5, B6, B59W
220 to 2100
~Hs
LA [382] LB
Auto Switch Proper Mounting Position (Detection at stroke end) (mm) Auto Switch Mounting Height (mm)
Auto switch | p-M9] Auto switch D-M9C]
model | p.grv D-HIOW . g7y |DEEKES model | pygry(v) | B-METW D-B5/B6 D-KS9W
D-MICW | D-ASL] 3::;:2 D-C80 gg:gDmessw D850 |o peow D-MICW (V)| D-AST] | D-C73C [D-B59W D-GSNT
D-MOCIWV | D-A9CIV D-C73C D-B64 D-M9TA (V) | D-H7C] | D-C80C |D-GS/K5 D-G59F
D-H70) D-GENT D-H7OW
D-MoIA D-H7G |D-C80C |ecy D-AID(Y) | DIHTNF D-GSCW D-H7C
D-M9CIAV - 8
Bore Bore D-C7/C8
size A B A B A B A B A B A B A B ||size Hs Hs Hs Hs
20 33 |32 |29 |28 (28.5(|27.5(/29.5|285|25 |24 |23.5|225(26.5|23.5 20 255 245 27 275
25 325|325(|28.5(285(28 |28 |29 |29 |245|245|23 (23 |26 |26 25 28 27 29.5 30
32 34 |33 |30 |29 |29.5/285|30.5/29.5|26 |25 |24.5/23.5|27.5|26.5 32 315 30.5 33 335
40 39 |36 |35 |32 (34.5|31.5(355|325|31 |28 |29.5|26.5(32.5|29.5 40 36 35 37.5 38
50 46 |44 |42 |40 |415|39.5|425|40.5|38 (36 |36.5|34.5/39.5|37.5 50 415 40.5 43 435
63 445/455|40.5|41.5/40 |41 |41 |42 [365(|375(35 |36 |38 |39 63 48.5 47.5 50 50.5
80 — | —|—=|—=|—=|—|—|— |495|445|48 (43 |51 |46 80 - — - 59
D-(1
100 — | —|—=|— | — | — | — | — |485|455|47 (44 |50 |47 100 = = — 69.5
-XOJ

Note) Adjust the auto switch after confirming the operating condition in the actual setting.

179



CG1Y series

Minimum Stroke for Auto Switch Mounting

(mm)
Number of auto switches
Auto switch model With 1 pc With 2 pcs. With n pcs. (n: Number of auto switches)
i Different surfaces Same surface Different surfaces Same surface
n-2
D-M9O] 5 15 Note 1) 40 Note 1) 20 + GSKT) 55+35(n-2)
(n=2,4,6..)Note3) (n=2,3,4,5+)
n-2
D-M9CIW 10 15 Note 1) 40 Note 1) 20 + BSKT) 55+35(n-2)
(n=2,4,6..)Note 3) (n=2,3,4,5)
D-M9CIA 10 25 40 Note 1) 25+ 35 ; ) 60 +35(n-2)
(n=2, 4, 6-..) Note 3) (n=2,3,4,5)
n-2
D-A90] 5 15 30 Note 1) 154357 50 + 35 (n - 2)
(n=2, 4, 6.-)Note 3) (n=2,34,5")
n-2
20+35 35+ 35 (n-2)
-| 5 20 35 2
i (n=2, 4,6..)Noted) (n=2,3,4,5+)
n-2 _
D-A9CIV 5 15 25 15+357 25+35(n-2)
(n=2, 4, 6.-)Note 3) (n=2,3,4,5)
D-M9CIWV 10 20 5 20+350 > 2) 35435 (n-2)
D-MSLJAV (N=2, 4, 6..-) Note 3) n=2,3,4,5.)
D-C70 5 15 50 15+45£—)";2 50 + 45 (n - 2)
Dacsy (n=2,4,6.)Note 3) (n=2,3,4,5)
D-H70 (n-2) -
D-H7OW 10 15 60 15 +45 5 60_+24g (2 2)
D-H7NF (N=2, 4, 6...)Note 3) (n=2,8,4,5-)
D-C73C 5 15 o5 15 +500=2) 5 2) 65+ 50 (n—2)
PHEENS (n=2,4,6..)Note 3) (n=2,3,4,5)
D-B501 -
D-B64 5 15 75 15+50£—)"22 75+ 55 (n—2)
Becois (n=2,4,6.)Note3) (n=2,3,4,5)
D-K590] , 4,
n-2 _
D-B59W 10 20 75 20 + 50 2 75+55(n-2)
(n=2, 4, 6--) Note 3) (n=2,3,4,5)

Note 3) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
Note 1) Auto switch mounting

Auto switch model

With 2 auto switches

Different surfaces

Same surface

A

15,

Correct auto switch mounting position is 3.5 mm from the back

face of the switch holder.

B

The auto switch is mounted by slightly displacing it in a
direction (cylinder tube circumferential exterior) so that the
auto switch and lead wire do not interfere with each other.

pHAED Note 2

) Note 2)
D-MOCOIW Less than 20 stroke Less than 55 stroke
D-M9CIA Less than 20 stroke Note 2) Less than 60 stroke Note 2)
D-A90] — Less than 50 stroke Note 2)

Note 2) Minimum stroke for auto switch mounting in types other than those mentioned in Note 1.

180



Operating Range

Auto Switch Mounting CG1 Y Series

* Values which include hysteresis are for guideline purposes only, they are not a guarantee (assuming approximately +30% dispersion) and may change substantially depending on the ambient environment.

Auto Switch Mounting Brackets/Part No.

(mm) (mm)
) Bore size } Bore size
Auto switch model Auto switch model
20 | 25 | 32 | 40 | 50 | 63 | 80 | 100 20 | 25 | 32 | 40 | 50 | 63 | 80 | 100
D-M9CI(V) D-H7O/H7mW |
D-M9CIW(V) 45| 5 | 45|55 | 5 | 55| — | — D-H7NF 414|455 6|85
D-M9TIA(V) D-H7C 7 |85] 9 | 10|95 105 — | — | |REA
D-A9CI(V) 76|88 |89 |—|~— D-G5L1/G5C1W/G59F
D-C7/C80 s Lol o 11010l —1_ D-G5BA/KBO/KSOW | 4 | 4 | 45| 5 | 6 |65]65( 7 REB
D-C73C/C80C D-G5NT 4 4 45| 5 6 | 65|65 7
D-B501/B64 8 10 9 10 10 11 11 11 REC
D-B59W 13 18 | 14 | 14 | 14 | 17 | 16 | 18

Low
- Speed
Auto switch Bore size (mm)
model 20 25 32 40 50 63 80 100 MQ
B:mgngv) BMA3-020 BMA3-025 BMA3-032 BMA3-040 BMA3-050 BMA3-063 _ _
D-A90I(V) (Asetofa, b, c,d)|(Asetofa,b,c d)|(Asetofa,b,c, d)|(Asetofa, b, c d)|(Asetofa,b,c, d)|(Asetofa,b,c,d) RHC
D-M9TIA(V) Note2)| BMA3-020S BMA3-025S BMA3-032S BMA3-040S BMAB3-050S BMA3-063S _ _
(Asetofb,c,d,e)|(Asetofb,c,d,e)|(Asetofb,c,d e)|(Asetofb,c,d,e)|(Asetofb,c,d e)|(Asetofb,c,d, e) RZQ
Switch bracket (Resin) Auto switch
a| Transparent (Nylon) Note 1)
e | White (PBT) )
c
Auto switch mounting band
+ Band (c) is mounted so that the projected part is
on the internal side (contact side with the tube).
D-C7C1/C80
D-C73C
D-C80C BMA2-020A BMA2-025A BMA2-032A BMA2-040A BMA2-050A BMA2-063A _ _
D-H70O (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw)
D-H7OW
D-H7NF
D-H7BA BMA2-020AS BMA2-025AS BMA2-032AS BMA2-040AS BMA2-050AS BMA2-063AS _ _
(Asetof band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw)
D-B5C1/B64
D-B59W
D-G5C1/K59 BA-01 BA-02 BA-32 BA-04 BA-05 BA-06 BA-08 BA-10
D-G5CIW/K59W | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw)
D-G5BA/G59F
D-G5NT

Note 1) Since the switch bracket (made from nylon) are affected in an environment where alcohol, chloroform, methylamines, hydrochloric acid or sulfuric
acid is splashed over, so it cannot be used.
Please contact SMC regarding other chemicals.

Note 2) Avoid the indicator LED for mounting the switch bracket. As the indicator LED is projected from the switch unit, indicator LED may be damaged if
the switch bracket is fixed on the indicator LED.

Band Mounting Brackets Set Part No.

Set part no.

Contents

[Stai

BM2-CICICIA(S)

* S: Stainless steel screw

- Auto switch mounting band (c)
- Auto switch mounting screw (d)

BJ4-1

- Switch bracket (White/PBT) (e)

- Switch holder (b)

BJ5-1

- Switch bracket (Transparent/Nylon) (a)

- Switch holder (b)

Steel Mounting Screw]

BBA3: D-B5/B6/G5/K5 types

switch is shipped independently, the BBA3 is attached.

Note 3) Refer to page 1047 for details on the BBA3. When the D-G5BA type auto

The following stainless steel mounting screw kit is available. Use it in accordance
with the operating environment. (Since the auto switch mounting bracket is not
included, order it separately.)

D-0
-XO
181 ®



CG1Y series

Cylinder Mounting Bracket, by Stroke/Auto Switch Mounting Surfaces

Auto switch mounting surface varies depending on mounting brackets and cylinder strokes. Refer to the table below.

(mm)

Auto switch model

Basic, Foot, Flange, Clevis

Trunnion

With 1 pc.
(Rod cover side)

With 2 pes.
(Different surfaces)

With 2 pes.

(Same surface)

With 1 pc.
(Rod cover side)

With 2 pes.
(Different surfaces)

With 2 pes.
(Same surface)

Auto switch mounting

surface Port surface Port surface Port surface n
(o foe o
& & &)
Auto switch type
D-M9(V)
D-M9CIW(V)
D-MOTIA(V) 10 st or more 15t0 44 st 45 st or more 10 st or more 15t0 44 st 45 st or more
D-A9(V)
D-C7/C8 10 st or more 15 to 49 st 50 st or more 10 st or more 15 to 49 st 50 st or more
AL 10 st or more 15to0 59 st 60 st or more 10 st or more 15to 59 st 60 st or more
D-H7NF
D-C73C/C80C/H7C 10 st or more 15to 64 st 65 st or more 10 st or more 15 to 64 st 65 st or more
D-B5/B6/G5/K5
D-G5CIW/K59W 10 st or more 15to 74 st 75 st or more 10 st or more 15to 74 st 75 st or more
D-G59F/G5NT
D-B59W 15 st or more 20to 74 st 75 st or more 15 st or more 20to 74 st 75 st or more

# Trunnion type is not available for 80 and 100.

R e e e e e e e e e T R

Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable.
Refer to pages 941 to 1067 for the detailed specifications.

* With pre-wired connector is also available for solid state auto switches. For details, refer to pages 1014 and 1015.

= Normally closed (NC = b contact) solid state auto switches (D-M9LIE(V)) are also available. For details, refer to page 1592-1.

1 1
1 1
1 - - - 1
1 Type Model Electrical entry Features Applicable bore size (mm) 1
I D-H7A1/H7A2/H7B — I
1 Solid state D-H7NW/H7PW/H7BW Diagnostic indication (2-color indicator) 220 to 063 1
] D-H7BA Water resistant (2-color indicator) 1
1 D-G5NT Grommet (In-line) With timer 220 to 6100 1
! D-C73/C76 — 1
! r——— - 920 to 063 1
1 Reed D-C80 Without indicator light 1
1 D-B53 — 220 to 6100 1
1 1
1 1
= o

® 182



